
1) Find the value of 'd' by completing the 
square of the following equation: 2 + 
6d + 9

Answer: ____________

2) Find area of 
rectangle having 
sides a = 7 ft 
and b = 5 ft

Answer: ____________

3) Factorise d2 + 11d + 18

Answer: ____________

4) Find the mode of the following set of data:

9, 9, 6, 6

Answer: ____________

5) 6 x 7

Answer: ____________

6) Find the mode of the following set of data:

4, 4, 4, 6, 6, 6, 6, 6

Answer: ____________

7) Find the mode of the following set of data:

4, 4, 4, 6, 6, 6, 6, 6

Answer: ____________

8) Round 20.28 to the nearest whole 
number.

Answer: ____________

9) Write 9 x 10-3 as a normal number.

Answer: ____________

10) 88% of 20

Answer: ____________

11) 8/
1 ÷ 8/6

Answer: ____________

12) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

13) (8 x 52) - (9 x 96)

Answer: ____________

14) 9.4 x 5

Answer: ____________

15) 6/73 of 219

Answer: ____________
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16) Increase 38 by 4/19

Answer: ____________

17) 5.8 x 7.8

Answer: ____________

18) 4 - (-1)

Answer: ____________

19) 6/6 x 7/10

Answer: ____________

20) 6/6 x 7/10

Answer: ____________

21) 40 ÷ (-5)

Answer: ____________

22) Find area of square 
having each side (s)
equals 9 m

Answer: ____________

23) $35.00 earning 9% compound 
interest for 2 years.

Answer: ____________

24) Round 26.95910 to the nearest whole 
number.

Answer: ____________

25) Round 16.25 to 1 significant figures.

Answer: ____________

26) n1 / n17

Answer: ____________

27) 54 ÷ (-9)

Answer: ____________

28) Round 2.9573 to 3 significant figures.

Answer: ____________

29)
8  Find Volume of Cone 

6

Answer: ____________

30) 1/24 of 120

Answer: ____________
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31) Solve 19f2 + 7f - 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

32) Solve 19f2 + 7f - 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

33) 60 ÷ 10

Answer: ____________

34) 60 ÷ 10

Answer: ____________

35) 60 ÷ 10

Answer: ____________

36) 2 + 2.6

Answer: ____________

37) 8/99 of 198

Answer: ____________

38) 8 + 5.6

Answer: ____________

39) 45% of 14

Answer: ____________

40) b

a o c
Measure angle boc 

Answer: ____________

Total: ___ / 40
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Answers:

1) (d + 3)2 2) 35ft 3) (d + 2)(d + 9) 4) 9 5) 42 6) 6 7) 6

8) 20 9) 0.009 10) 17.6 11) 6 12) 1/6 13) -4782769 14) 47

15) 18 16) 46 17) 45.24 18) 5 19) 7/10 20) 7/10 21) -8

22) 81m 23) $41.58 24) 27 25) 20 26) n-16 27) -6 28) 2.96

29) 75.398223686155 30) 5 31) f = 0.5 or -0.8 32) f = 0.5 or -0.8 33) 6 34) 6 35) 6

36) 4.6 37) 16 38) 13.6 39) 6.3 40) 123
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